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H stands 1 meter to the south of G, who stands 5 meters to the 

west of F. A stands 1 meter to the south of B, who stands 2 meters 

to the west of C. E stands 3 meters to the north of F. E stands 1 

meter to the east of D, who stands 1 meter to the north of C.

H, G के दक्षिण में 1 मीटर खड़ा है, जो F के पश्चिम में 5 मीटर खड़ा है। A, B के 1 
मीटर दक्षिण में खड़ा है, जो C के पश्चिम में 2 मीटर खड़ा है। E, F के उत्तर में 3 मीटर 
खड़ा है।  E, D के 1 मीटर पूर्व में खड़ा है, जो C के उत्तर में 1 मीटर खड़ा है।



Ques1.In which direction does A stands with respect 

to H?

H के सन्दर्व में A ककस ददश़ा में खड़ा है?
1. South

2. North

3. South west

4. North east
5. None of these

यदद T,3mA के 2 मीटर दक्षिण में खड़ा है, तो H और T 

के बीि की दरूी क्य़ा है?
1. 1m

2. 2m

3. 3m

4. 0m

5. None of these

Ques 2.If T stands 2 meters south of A, then 
what is the distance between H and T?



6 Cars A,B,C,D,E,F are parked in a straight line facing north. The distance between each cars 
is a  Successive/consecutive multiple of 4.
Note: Adjacent cars can’t be alphabetically placed. Such that 

A can’t be parked adjacent to B
B can’t be parked adjacent to A and C and so on...

6 क़ारें A,B.C,D,E,F एक सीधी रेख़ा में उत्तर की ओर मखु करके खडी हैं। प्रत्येक क़ारों के बीि की दरूी 4 

क़ा क्रममक/लग़ात़ार गणुक है।
नोट: आसन्न क़ारों को र्ण़ावनुक्रम में नहीीं रख़ा ज़ा सकत़ा है जसेै कक

A को B के ननकट प़ाकव नहीीं ककय़ा ज़ा सकत़ा है
B को A और C के आस-प़ास प़ाकव नहीीं ककय़ा ज़ा सकत़ा है और इसी तरह आगे ..



Distance between cars A and B is 60 m. Car A is parked left of car B. There is 1 car 
parked between cars A and B. Distance between cars B and E is 84 m. Distance 
between cars C and F is a multiple of 3. Car F is parked somewhere right of car C

क़ार A और B के बीि की दरूी 60 मीटर है।  क़ार A, क़ार B के ब़ाईं ओर खडी है। क़ार 
A और B के बीि 1 क़ार खडी है। क़ार B और E के बीि की दरूी 84 मीटर है।  क़ार C 

और F के बीि की दरूी 3 क़ा गणुज है। क़ार F क़ार C के द़ादहनी ओर कहीीं खडी है।



From a point, Car G moves 16 m east, takes a right turn, moves 12 m and stops at point 
Z. Point Z is 15 m north of car A. Car F goes 7 m in South direction, takes a left turn 
and moves 16 m, then it turns right and moves 5 m, next takes a left turn again and 
moves 22 m, then it reaches point X.

एक बबींद ुसे, क़ार G 16 मीटर पूर्व की ओर िलती है, द़ाएीं मडुती है, 12 मीटर िलती है 
और बबींद ुZ पर रुकती है। बब ींद ुZ, क़ार A के 15 मीटर उत्तर में है। क़ार F दक्षिण ददश़ा में 7 
मीटर ज़ाती है, ब़ाएीं मडुती है और 16 मी िलती है, किर र्ह द़ाएँ मडुती है और 5 मी 
िलत़ा है, किर र्ह किर से ब़ाएँ मडुती है और 22 मी िलती है, किर र्ह बबींदु X पर पहँुि 
ज़ाती है।



एक बबींद ुसे, क़ार G 16 मीटर पूर्व की ओर िलती है, द़ाएीं मुडती है, 12 मीटर िलती है और बबींद ुZ पर 
रुकती है। बबींद ुZ, क़ार A के 15 मीटर उत्तर में है। क़ार F दक्षिण ददश़ा में 7 मीटर ज़ाती है, ब़ाएीं मुडती है 
और 16 मी िलती है, किर र्ह द़ाएँ मुडती है और 5 मी िलत़ा है, किर र्ह किर से ब़ाएँ मुडती है और 22 मी 
िलती है, किर र्ह बबींद ुX पर पहँुि ज़ाती है।

From a point, Car G moves 16 m east, takes a right turn, moves 12 m and stops at point Z. Point Z is 15 m 
north of car A. Car F goes 7 m in South direction, takes a left turn and moves 16 m, then it turns right 
and moves 5 m, next takes a left turn again and moves 22 m, then it reaches point X.



Ques1.Car D will have to move how much to reach Car X?
प्रचन 1. क़ार D को क़ार X तक पहुींिने के मलए ककतऩा िलऩा होग़ा?
1. 10m west,30m south

2. 12m south,30m west

3. 12m south,30m east

4. 33m west,10m south

5. None of these

Ques 2. How many car/s between Car A and Car B?
प्रचन 2. क़ार A और क़ार B के बीि ककतनी क़ार होंगी?
1. None

2. One

3. Two

4. Three

5. More than three

Ques3. What is the distance between Car B and point X?
प्रचन3. क़ार B और बबींदु X के बीि ककतनी दरूी होगी?
1. 13m
2. 2✓5m

3. 6✓5m

4. 14m
5. 6✓2m



Thank you


